Sr Questions Answers Choice

A i S5
1 = s e eadio A0 e (S oS- B. o) O

2 = e o0 pAd (pe LSS

3 = s sl et S Alald o) b By i S5

4 = e S b pl KK 8 (S e

2R a8 S pados s o LS Sl (pe Caan B u (A5 (S SESL S S Jd peaheas A

PRSP e

o
A,

6 S8 AR Uy o Jo I et S G o s Gl

8 i e st Bl s e s aa (S S gk (& sian-

9 = S Bl (S o ln o sican-

10 Dty B 50 e S pe S (e L pun (380 (K5 e (S-

D> DOWP» DOWP DOWP» DOEP U0EP» U0®mP» DO0UP» DOmP» DOWmF 00
o
o

1" U S B3R (e sle Cilite g S o jliiig aas (S )b B8 5 R o s oo sian-

A S Y mhaw
B. oS o stien b
C. ooy s e s
D. uphle (s

12 2 0s3eg o i el (S



